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Faktorizacija — ponavljanje gradiva — RM 7 },_

1. Napisi u obliku umnoska:

9x* - 25y =

164 —72ab+81b* =

8a° +27 =

x* +4y* +9z° —4xy + 6xz—12yz =
x*-81=

9—(y+3) =

(x—Zy)2 —(Zx—y)2 =

40°b? —(a2 +b? )2 =

2. Napisi u obliku umnoska:

a.

b

C.

d

5x°y* —20xy* =
. 48a* —6ab’ =
24a°x —36a*bx + 18ab*x — 3xb> =

L2ty =Xyt -t =

3. Napisi u obliku umnoska:

a. (a+3b)(x-y)-(b—-3a)(x-y)=

b

n

d.

e.

. (4a-5b)(3m—2n)—(2b—a)(6m—4n)=

2

(x+y)(x-y) ~(x=y)(x+y)
a(1-b)=2b(b—1)=

a® —4b* +9b? (4b2 —a2) =

4. Napisi u obliku umnoska:

a.
b.

C.

@ —-a’+a 1=

x°+5x> —x-5=

ax® +ax* +ax—bx* —bx® —bx* =
9a> —6ab+b*>—1=

b> —4ab+4a> +b—2a=

a* —b* +c* —d*> —2ac—2bd =

x*+5x+6=

Rj
Rj
Rj
Rj

Rj

Rj:
Rj:

Rj:

: (3x — 5y )3x + 5y)

: (4a-9b)

: (2a+3)(4a® —6a+9)
s (x—2y +3z)

: (x+3)(x—3)x* +9)
~yly+6)
=3(x+ylx-y)

—(a-b)*(a+b)

j: 5y (x — 2y ) x + 2y)
j: 6a(2a—b)(4a’ +2ab+b*)

j: 3x(2a-b)’

j: -2 (x? —y)

j: 2(x —y)2a-D)

j: 3(3m —2n)2a-3b)

;= 2y(x+y)x—y)

i: (1-b)a+20)

it (a—2b)(a+2b)(1-3b)1+ 3b)

j: (a—1)a+1)*(a> —a+1)
i: (x+5)x—1)x+1)

j: x(x? +x+1)a—bx)

j: Ba—b—1)3a—b+1)

i: (2a—b)2a-b-1)

i (a+b—c+dfa—b—c—d)

j: (x+2)(x+3)



